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RURAL DEVELOPMENT
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{ Fundamentals of Rural Development )

Full Marks : 80
Pass Marks ; 32
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The figures in the margin indicate full marks
Jor the questions

1. SR FIRAT 0% S0l AR Shear/ ey ot -

FOCNCE

1x8=8
Choose the correct answer/Answer the
following questions :

(a) R WO TR i ol = e

Which of the following is not an
economic measure of development?

() =R o
Per capita income
(i) ¥ B SW

Gross National Income
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(2)

(iii) 5 T TRAWH
Gross domestic product

(iv) Q& S
Life expectancy

(b) TREER N WE G N W TR
oS TRE AT @IFTe RN

The -sum of the difference between
poverty line and actual level of income of
the people living below that line is called

() =W kel -
absolute poverty
(i) oS kel
relative poverty

(iii) Jo WR@S! U=
total poverty gap

(iv) @RI GHI8 T

None of the above

(c) =T SHITEAOR @1 e o |

Mention one reason of rural
backwardness.
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(3)

(d) @2 T WS TR FMOR e"S
Tl 497 Tmw ST T ?

In Fei-Ranis model, on which of the
following the development of industry
sector does not depend?

() IR 293 4@ oY IR =7 IRT er1e

Expansion of surplus labour released
by the agriculture sector

(i) TroRiE SRSl IR <R
Expansion of industrial productivity

(iii) TR o 2R Teoerer JRT eoS

Expansion of productivity of land and
labour

(iv) A % W Bl IR oK

Expansion of productivity of capital
and labour

(e) TR TG TS
According to Nurkse’s theory

fi) WWWWﬁwmﬁqﬁ
@R AT

economic  development requires
simultaneous growth of mdustry and
agriculture-
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(i) CIiRe AETelE T AW @R @A
TS

domestic trade should be more than
foreign trade

(iii) TR GRS AT oI @R 2T A
demand for labour should be more
than that of capital

(iv) TwEEE (et Ha TS 9y iR @

underdeveloped countries should
emphasize on small-scale industries

() o WS AW e 91T BT T fora |

Write one problem of human capital
formation in rural area.

(9 MGNREGA-T «b1 (M8 foran |
Write a feature of MGNREGA.

(h) T CRENE AT TIAN TR SRCTRT By
o BTt 3941 |

Mention one measure suggested by
Mahatma Gandhi for rural development.

2. @ R @ GROR eRe oY GRT o (aifeehn
yoo *3{ fo90) : 4%x4=16

Write short notes on any four of the following
(within 100 words each) :

(a) T SRR

Objectives of development
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(b) =T T YRR o

Meaning of the concept of rural
development

(c) TErIRT oF HLR R
Spread and backward effects

(d) =8 SR R e
Problem of unemployment in rural area

(e) TETPR Sy T
Rural development in Bangladesh

<R 2B 2 BeY ¢ oo o fowae fora « 11

Answer the following questions within 500 words
each:
3. (o) VR S BT R TR CWA PF FEWA
oo A1 =, SARAPR AR 0 2+9=11
What is Human Development Index?
Explain with example how Human
Development Index is constructed.

Y/ Or

(b) A PIEAI IO M| A @ PR
9T (FCTCA 94 (PR S Reger wprren T
33T IR IR T W, I FA) 6+5=11
Explain indices of development. Explain
how Lorenz curve and Gini coefficient
are used to determine the inequality of
income and distribution of a country.
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4. (o) TTEEEN TORA HGR! TR TEHR IF
FRAAGAIGS SACAGA ST | 11

Critically discuss the development
theory given by Rosenstein-Rodan.

%31/ Or

(b) T ST ORI AL ¥4 | TS A
B IRT [ SS_CGRT | 7+4=11
Discuss the constraints of rural

development. Suggest measures for
integrated rural development.

5. (@) g™ SIER [ AAA TEAA A AISH [N
W ERe-PER’ Wi WA T o}
IR A e @rme 1w 3R 132
9+3=12
Discuss the Harris-Todaro model of
rural-urban migration. How can this
model help in policy framing?

g1/ Or

) IR = A B2 AR WA oewe RR Fw
ffRey e T ogel ST I @]
TEOR MRt 7 2+8+2=12
What is surplus labour? Discuss the
surplus labour based theory of economic

development of Lewis. What are the
limitations of the theory?
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6. (a) o CHES TR AN SRR GFG SN
9 | T 9% AEe 39 Rtcr 1w o
o A T 7+4=11
Discuss the role of human resource
development in rural development.
Analyze the linkages between invest-
ments in health and education.

91/ Or

() = TS AR T R @R FRIAR
el Fd11 ARG AAE AW SWee
A T R A ? 6+5=11
Discuss the reasons for environmental
problems in rural area. How can
environmental protection help in rural
development?

7. (@) () SPBIR FEES AT SEEE G IR
1 7

Explain the significance of rural
development in Asian countries,

(i) AT eI W g R @I aw
T s IRI M2 4

How can fragmentation of land and
shifting cultivation hamper rural
development?
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oeJ1/ Or

(b) = T AR SRTS I TN AR I
| 11

Describe the approaches to rural
development taken in India.

%* ok
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